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QUESTION 1

You are asked to deploy 20 QFX Series devices using ZTP Each QFX5 100 requires FTP server. In this scenario, which
two component must you configure on the DHCP Server? (Choose two.) 

A. The MAC address of the FTP server 

B. The IP address of the FTP server 

C. The MAC address of each QFX5100 

D. The MAC address of each FTP QFX5100 

Correct Answer: AB 

 

QUESTION 2

A customer wants to connect two data centers on different subnets using EVPN. What are two implications of using
different IP subnets at each site? (Choose two.) 

A. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-3 routes. 

B. MAC addresses will need to be advertised between the data centers. 

C. MAC addresses will not need to be advertised between the data centers. 

D. Using different IP subnets at each site allows Layer 3 gateways to exchange only type-5 routes. 

Correct Answer: CD 

 

QUESTION 3

You are an architect for an enterprise organization that currently operates three data centers with plans to expand to five
data centers in the next year. You already notice large amounts of BUM flooding and must control this issue before
implementing the next two data centers. 

Which feature would address this issue? 

A. type-5 routes 

B. type-6 routes 

C. mesh groups 

D. VXLAN BUM traffic filter 

Correct Answer: B 

 

QUESTION 4
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Which two statements are true about VRF routing instances? (Choose two.) 

A. VRF can be used in conjunction with Layer 3 logical interfaces. 

B. Each logical Layer 3 interface can belong to only one routing instance. 

C. Each logical Layer 3 interface can belong to multiple routing instances. 

D. VRF does not enable multitenancy. 

Correct Answer: AB 

 

QUESTION 5

Referring to the exhibit, 

which two statements are correct? (Choose two.) 

A. There are two tunnels to the remote endpoint. 

B. The irb. 0 interface is the remote tunnel endpoint interface. 

C. The source tunnel IP address is 192.168.100.11. 

D. There is one tunnel to the remote endpoint. 

Correct Answer: CD 
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